Grade 9 Math - Unit 1 Assignment 2 Practice

Name:

B 1. What is the length of one side of a square garden with area of 7.84 m??

A) 1.96 m (B)Z.Sm; C)3.92m D)31.36m
: S}dtltng-l-h‘-"rArea -N3.%4 = 2.€

2. Assuming that the area of each face is 1 cm? , what is the surface area of 5

| ‘ o
the object below? ‘ (6)(&0( c_ubt&)'(_?,& noco\)l

A) 6 cm?
B) 13 cm? _(GX‘;\ (2
TS o%6) 72X
D)  36cm? = 3(9 ~-\0
3. If you were calculating the entire surface area of the object below, what
| 5 is the area of the region you would need to subract from your total?
8 ft
2 ft 1 - -
L overlop = (Bx3) = 30
1 A #
i
dft| Femmemmmem- -5
7 5 ft
12 ft

A) 10 ft2 B) 16 ft2 C) 40 ft2 D) 80 ft2
E 4, Assuming that the area of each face is 1 cm?, how does the total surface

area of the object below change if you remove the block on the right?

A) Decreases by 3. | Dﬂjina \

B) Decreases by4) (% X QX— (’ZX g)
C) Decreases by 5. - g_\g -‘ Q
-
D) Decreases by 6.
- 3)




5. This object is made using centimeter cubes. Determine its surface area.

| (@Xﬁoc cubes) - (2"* HOQ OV:rlaPQ\
:(G x?1) ‘(?, % 6)

g TY1-1,
-230em
S _{‘ 6. 'I:;Lsaf)bject is made using cubes where each side length is 3 cm. Determine its surface q)
A:;aafl‘ ( N x H of cubES) - (&K* ;)? ouevlaps *
One block . X 0 _(a\quq
b(3x3):54 (54 % 10)
© 940 - lel

- 23 %o

7. Find the total surface area of the composite object below.

S A Triangular Priem - / o

£k Q ( 8,’\&_\'): g8

Bottom™  ®%(F = 136 o | ______________

Lefb o 10wy =187 X

Riﬂh" 2 ka" x\'S.(D:LZ—S\"z P ”m
(p4Z.2 '

S.A Q&hgﬂuhr Pram
TiR:a( gx1t ) 2212
L3R Q(B%(} )2 130
T a0 S Y= R0

32?2




8. Mr. Walters decides to build a table so that all the math teachers can get together and eat
lunch together. He decides he should paint the table. What is the total surface area of the
table that will need to be painted?

SA Reclanvalar Prism: opergp:Q(1r”) A
Fe8:al 1 x30) =60 - gpw () £ -
s aC | %x20) =4O =628
14R-2C 30 %20) 21200 4 yerips: " i
% 1300 ﬁzzqs.\'ﬁ"" ¥

3Reginder= [7 o &’\\" N
‘a3 2

=628 t (S0 = 5} .... \51xY4=62% (4 \eqs

B) If a can of paint covers 800 in?, how many cans will he need to buy for two coatg, of

paint?
_ - 28057 fe necds
Qcoats = A x 1907 88 a 5 eons

Cans of paint = 380596 =R00 = 41512

9. Jill is icing a cake. If she does not ice the bottom or between the 2 layers, what is the
total surface area of the cake to be iced?

Surface Area of a Cylinder = 2mr? + 2nirh
SRIpr Rzynd]-23u10-19 Im
T 628 +94L
= \6% 30cm]:
. 2 _
3.A Batham - EZ.S_\L\ -QDJ&)-?-N '20.38] 1)
2 2512 ¢ 376R e TRl RN
= 6280 F = b2

: T -1\4 '2()1
Ts.A= 1570+ 62R0-\3%Y Bottom = O - 1756
~ SQ(DQ) & Tol'0| Dgo‘UChOhS: \%%q




10. The sketch of a house is given below. The owner wants to put a waterproof sealant on
all exterior surfaces before she applies the roof shingles and vinyl siding. The house
will have a front door measuring 2 by 8, two windows measuring 2 by 3, and a third

window measuring 5 by 8. What will the total surface area of the house be to be

covered with this waterproof sealant?

‘F%B a ( 50. ;'*5) - 22 635 4.5ft:"
L3R Q( g5 x223) = 31!

_ PH.
H014.35 =

50.3 ft

SA Wallg:
\/\/\NW\
Door : QX% =0

F3R:A(S03x30) = 1@
Windows J(ax3)=13

LFR- (%5 x3p) = 5100 ]
: €U Window 5 ¢ <10

5%

TSA=101F.35+ RIUR-S
“12 033,390




